Topic 6. International labour mobility: migration
1. International migration and labour mobility. Types of migration.
2. The theoretical effects of immigration on receiving nations. 
3. The causes of increasing world migration (geographic clusters of receiving nations: The North America case, Western Europe, the oil producing nations of the Near East).
4. Immigration policy. Criteria for admission of immigrants. Job competition impact of immigration. 
Key Concepts and Terms
Types of migration, the migration decision, high-skilled migration, low-skilled migration, migration policy, brain drain, guest workers, labour mobility, migration, unplanned (i.e., illegal) immigration, sending countries, International Organization for Migration, assimilation, asylum seeker, brain gain, reverse brain drain, facilitated migration, forced migration, irregular migration, naturalization, remittances: legal ed illegal, resettlement, standard economic theory of labour market operations, equity issues, effects on social policy, liberal welfare systems, labour market, migration hump, “Baumol effect” or “cost disease”.
?Study questions?
1. Can you identify reasons why the liberalization of the trade, FDI and finance components of economic globalization has proceeded much faster than for labour migration? 
2. We discussed the political economy of trade policy. Can you identify any insights from that topic that could be used in thinking about the political economy of migration policy?
3. Can you identify any benefits for relaxing sovereignty in favour of multilateral policy coordination of migration?
4. What effects does labour migration have on the country of immigration? The country of emigration? The world as a whole?
5. What are the mechanisms aimed at ensuring return by forcing or obliging the individual?
6. Who does the permanent high-skilled migration involve? 
7. What's the difference between permanent high-skilled migration and temporary high-skilled migration?
8. What types of workers does the temporary low-skilled migration include?
9. Why do Beath, Goldin, and Reinert (2009) note that “family migration is among the largest channels of migration and represents a disproportionate share of ﬂows from low- and middle-income countries to high-income countries”?
10. Explain the correlation between the population growth in Morocco and increasing number of individuals who are considering emigrating from Morocco to the EU.
11. Make a list of direct and indirect costs of migration.
12. Why an increase in education levels in Ukraine will have the effect of increasing the aspirations of Ukrainians and making them more aware of economic and social possibilities abroad?
13. What is the migration hump phenomenon? Make a graph.
14. What is the significance of the migration hump for understanding global migration patterns?
15.When El-Khawas points out that there are more Ethiopian doctors in Europe and North America than in Ethiopia, does he mean the phenomenon of brain drain?
16. Give characteristics of the the role of Chinese and Indian return migrants in developing high-technology clusters in Taiwan, China, and India.
17. Why do Italy, Germany, France, the United Kingdom, and Japan experience or about to experience absolute declines in their populations?
18. Give the examples of productivity-resistant, low-skill, hard-core non-tradable services.
19.Why has recent demand for low skilled workers emerged in the Middle East and East Asia?
20. Can remittances act as a risk-management strategy for poor households in developing countries through income source diversification and contribute to human capital investments in some cases, offsetting to some extent brain drain effects?
21. Is there any multilateral organization for migration policy?
22. Discuss the costs and benefits of immigration policy that gives preference to refugees fleeing war or persecution.
23. Could FDI be thought of as an inflow of both capital and skilled labour?
24. Would you expect to see international labour migration increase as barriers to the movement of goods between countries proliferate?
25. What are the positive impacts of migration on migrants and the firms that hire them?
26. What are the negative impacts of migration for the nation receiving migrants?
?Multiple-Choice Questions?
1. Using the production function model, in an economy with no migration, the real wage is determined by 
a. the marginal product of capital;
b. the average product of capital; 
c. the marginal product of labour; 
d. the average product of labour. 
2. A redistribution of workers from low to high wage countries will eventually result in:
a. equal real wages in all countries; 
b. a higher level of international investment and trade; 
c. equal income distribution between land owners and workers; 
d. increase in world’s output as a whole; 
e. both a. and d. above.
3. If initially wages are higher in Home than in Foreign country, then a movement of workers from Foreign to Home will:
a. raise the income of landowners in the Home country; 
b. raise the income of land owners in the Foreign country; 
c. raise total output in the Foreign country; 
d. lower the marginal product of labour in the Foreign country; 
e. none of the above.
4. International free labour mobility will under all circumstances:
a. increase total world output; 
b. improve the economic welfare of everyone;
c. improve the economic welfare of workers everywhere; 
d. improve the economic welfare of landlords (or capital owners) everywhere; 
e. none of the above.
5. If the world attained a perfect Heckscher-Ohlin model equilibrium with trade, then:
a. workers in the labour abundant country would migrate to the capital abundant country;
b. workers in the labour abundant country would wish to migrate to the capital abundant country;
c. workers in the labour abundant country would have no desire to migrate to the capital abundant country;
d. workers in the capital abundant country would wish to migrate to the labour abundant country; 
e. workers in the capital abundant country would migrate to the labour abundant country.
6. During the mass migration period of late 19th-early 20th centuries:
a. wages rose in the origin countries and fell in the destination countries;
b. wages fell in the origin countries and rose in the destination countries;
c. wages generally rose faster in the origin countries;
d. wages generally rose faster in the destination countries;
e. wages generally fell faster in the origin countries.
7. ___________ refers to highly educated and skilled people who migrate from poor developing countries to wealthy industrial countries:
a. direct investment; 
b. portfolio investment; 
c. transfer pricing; 
d. brain drain;
e. none of the above.
8. Which group definitely loses from international migration of labour:
a. the migrants;
b. the migrants’ new employers in the receiving country;
c. the migrants’ old employers in the sending country;
d. the migrants’ fellow workers who did not emigrate.
9. The welfare (supply and demand) analysis of immigration:
a. assumes that factor price equalization is not achieved through trade alone;
b. implicitly assumes factor prices will eventually be equalized through trade alone;
c. considers the factor price equalization theorem to be irrelevant;
d. acknowledges that commodity price equalization will not be achieved through immigration alone.
10. One of the reasons we know that international labour mobility has been higher at other times is because:
a. the percent of our population that was foreign born was higher;
b. the percent of our population that was foreign born was lower;
c. wages were lower;
d. labour was important in agriculture;
e. the population was younger.
11. Labour mobility was:
a. less in 1900 than in 1999;
b. unimportant to global integration until the 1960s;
c. greater in 1900 than in 1999;
d. never controversial;
e. a brand new feature of the global economy in the twenty-first century.
12. International labour mobility:
a. leads to wage convergence by raising wages in destination country and lowering in source country;
b. is in accordance with the specific factors model;
c. is in accordance with the Heckscher-Ohlin factor proportions model;
d. leads to wage convergence by raising wages in source and lowering them in destination country;
e. is in accordance with scale economy model. 
13. In theory, labour mobility is:
a. a complete complement to trade flows;
b. a partial complement to trade flows;
c. a complete substitute for trade flows; 
d. a partial substitute for trade flows;
e. none of the above. 
14. In practice, international labour mobility is:
a. a complete complement to trade flows;
b. a partial complement to trade flows;
c. a complete substitute for trade flows;
d. a partial substitute for trade flows;
e. none of the above.
15. In the simplest model, migration from a low-wage to a high-wage country leads to:
a. an increase in the wage gap between the two countries;
b. an increase in output and per-capita output in the high-wage country;
c. a decrease in output and per-capita output in the low-wage country;
d. an increase in output but a decrease in per-capita output in the high-wage country.
16. Highly skilled professionals migrating from developing to developed countries is known as:
a. the guest worker phenomenon;
b. the ultra-antitrade effect;
c. the brain drain;
d. the Rybczynski effect.
17. If the producer can discriminate between domestic and guest workers:
a. guest workers will not be hired;
b. domestic workers will not be hired;
c. the producer can hire both guest workers and domestic workers, subsidize the guest workers and gain surplus;
d. the producer can hire both guest workers and domestic workers, subsidize the domestic workers and gain surplus.
Exercises
1. Table7.1 illustrates the hypothetical demand and supply schedules of labour in the United States. Assume that labour and capital are the only two factors of production. On graph paper, plot these schedules.
Table7.1
	Wage
	Quantity demanded
	Quantity supplied 0
	Quantity supplied 1

	8
	0
	2
	4

	6
	2
	2
	4

	4
	4
	2
	4

	2
	6
	2
	4

	0
	8
	2
	4


a. Without immigration, suppose the labour force in the United States is denoted by schedule So. The equilibrium wage rate is $__; payments to native U.S. workers total $__, while payments to U.S. capital owners equal $__.
b. Suppose immigration from Hong Kong results in an overall increase in the U.S. labour force to 51' Wages would rise/fall to $__, payments to native U.S. workers would total $__, and payments to Hong Kong immigrants would total $__. U.S. owners of capital would receive payments of $__.
c. Which U.S. factor of production would gain from expanded immigration? Which U.S. factor of production would likely resist policies permitting Hong Kong workers to freely migrate to the United States?
2. Read the Following abstract “Colombia’s COLFUTURO programme for overseas graduate studies” (Angel-Urdinola et al. (2004)) and explain the reasons the return policy:
“COLFUTURO is a small programme that finances 120 Colombian professionals per year to pursue graduate studies abroad and return to Colombia thereafter. Each student receives a so-called scholarship-credit of a maximum of US$25,000 per year for a maximum period of two years. The beneficiary must return to Colombia within 90 days of the completion of his/her studies and must stay a predefined period. For students who return to Colombia, up to 45 per cent of the scholarships-credit can be condoned. If the agreement is violated the full amount must be paid back under an accelerated amortization plan”. 
3. Unions argue that the U.S. imports more than it exports because labour is cheaper in foreign countries like Vietnam, Mexico, or India. Discuss some reasons why labour is cheaper in foreign countries. Some reasons to consider are the ratio of capital/worker, productivity, level of education, or products produced.
4. In the space after each of the 9 terms, note the matching definition from among A through I:
Table7.2
	1
	Permanent high-skilled migration 
	A
	It is more important in volume than temporary high-skilled migration. It  includes migrant workers in the areas of manual labour, construction, domestic service, and nursing.

	2
	Temporary high-skilled migration
	B
	Those who ﬂee to neighbouring countries to escape war, famine, or environmental catastrophes. 

	3
	Temporary low-skilled migration
	C
	It is similar in motivation to permanent high-skilled migration but can be more politically palatable in some cases where there is political resistance to granting permanent residence.

	4
	Family migration
	D
	It involves both voluntary and nonvoluntary (trafﬁcked) illegal migrants. 

	5
	Coethnic and national priority migration
	E
	It involves permanent residence and is sometimes granted in countries such as Australia, New Zealand, Canada, the United States, and the European Union. 

	6
	Asylum seekers
	F
	They are granted certain rights by the 1951 Geneva Convention addressing persons with well-founded fears of persecution.

	7
	Refugees
	G
	It involves the free movement of both labour and capital. 

	8
	Undocumented migration 
	H
	It exists in some countries and involves granting permanent residence based on ethnic background, religious afﬁliation, and national origin.

	9
	Visa-free migration
	I
	It allows permanent residence to the families of those who have already gained this residence.


5. Many critics of globalization argue that globalization is bad for developing countries because international trade would only happen because workers in poorer countries are exploited. The latter – the critics continue – could clearly be seen from the fact that workers in poor countries are paid less than workers in rich countries. Is this criticism justified by economic theory? Please explain. 
6. In the negotiations for the Eastern enlargement of the EU in 2004, Germany and Austria pushed through special anti-migration rules to “protect” their labour markets for several years. Both countries feared that wages would come under pressure if too many new EU citizens from the Eastern new member states migrated to Germany and Austria. Do anti-migration rules effectively prevent the adjustment of wages if trade in goods is liberalized? Please elaborate.
6. In Home and Foreign there are two factors of production, land and labour, used to produce only one good. The land supply in each country and the technology of production are exactly the same. The marginal product of labour in each country depends on employment as follows:
Table7.3
	Number of Workers Employed
	Marginal Product of Last Worker

	1
	20

	2
	19

	3
	18

	4
	17

	5
	16

	6
	15

	7
	14

	8
	13

	9
	12

	10
	11

	11
	10


Initially, there are 11 workers employed in Home, but only 3 workers in Foreign. Find the effect of free movement of labour from Home to Foreign on employment, production, real wages, and the income of landowners in each country.
7. Suppose that a labour-abundant country and a land-abundant country both produce labour- and land-intensive goods with the same technology. First analyse the conditions under which trade between the two countries eliminates the incentive for labour to migrate. Then show that a tariff by one country will create an incentive for labour migration.
8. Suppose a country has the Harris-Todaro problem. That is, for some reason urban wages are much higher than rural, leading to inefficiently low manufacturing production, but at the same time there is high urban unemployment because rural workers migrate to the cities in search of high-wage jobs. What policy or combination of policies would you advocate to solve this problem?
9. In a short essay, discuss the reasons for staffing with locals by MNE.
10. In a short essay, discuss the reasons for using expatriates by MNE.
11. What are the International Labour Organization and its functions?
12. In 1999, farmers in California’s Central Valley lobbied for an expansion of the “guest worker” program (which allows workers to enter the country temporarily) in order to provide more agricultural labour for the area. How would the effects of that type of program compare to increased immigration quotas or softer enforcement of the state’s borders?
13. It has been argued that even if intra-European Union labour mobility were to be completely removed, one should not expect to observe massive, or even large reallocations of populations with the E.U. Discuss.
14. Suppose Australia, a land (K)-abundant country and Sri-Lanka, a labour (L)-abundant country both produce labour and land intensive goods with the same technology. Following the logic of the Heckscher-Ohlin model, what will be the incentive for migration once trade is established between these two countries? Now, suppose that a tariff by one country creates an incentive for labour migration. From which country to which country will be the migration? Explain how you arrived at your answer.
15. In this problem we consider the migration of labour from one country to another. To begin with, draw a graph. The total length of the horizontal axis represents the total amount of labour in these two countries. The wage in country I is measured on the left-hand vertical axis, and the wage in country II is measured on the right-hand vertical axis. Draw country I's demand curve for labour. Label it D1.Draw country II's demand curve for labour. Label it D2. Label the wage at which the two demand curves cross as "W*."Suppose the wage in country I is higher than "W*." Label this wage on the left-hand vertical axis as "W1." Assuming there are no labour market imperfections in country I, how much labour is employed in that country? On the horizontal axis, label this quantity "L2."How much labour is available in country II? If there were no labour market imperfections, what would the wage be there? Label this wage "W2." Suppose now that country II has a minimum wage that is above "W2," but below "W*." Label this wage "W**." How much labour in country II is employed at this minimum wage? On the horizontal axis, label this quantity as "L1." How many workers are unemployed? If labour is free to migrate, what do you expect to happen to wages in each country?
16. Discuss the problem of moving white collar jobs offshore:
a) Who benefits from the outsourcing of skilled white collar jobs to developing nations? Who are the losers?
b) Will developing nations like the United States suffer from the loss of high skilled and high paying jobs to other countries?
c) Is there a difference between the transference of high paying white collar jobs, such as computer programming and accounting, to developing nations, and low paying blue collar jobs?  If so, what is the difference, and should government do anything to stop the flow of white collar jobs out of the country to countries like India.
